GSE Geometry Unit1: Basics of Geometry and Proofs Notes

Angle & Segment Relationships

Angle Addition Postulate: If point D liesin the interior of ~ ABC, then m .~ ABD + m » DBC = m « ABC.

a. find the measure of ~ PTM: W\ZW\_‘_—M + M INTP = oy LPTW
40 + 3D = F0
i ZPTM = F0°

b. Gi = 1350, fi
iven mgasT = 135¢, find mgasR . ML QSE + oy LRST = 2 OST
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Perpendicular: Two lines, rays, or segments that intersect to form a 90° angle.
a. Name all the angles you know are right angles.

\ LA and /L BDC

8

b. Solve for x.

4 FL+3x+3290

3x+715 =90
720 32X~ \S
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Angle Bisector: A ray that divides an angle into two congruent angles (two angles with equal measure).

a. QSbisects ZPQR. Find mZPQS.
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b. mb_ise_cts ZJKL . Find the value of x.
— T > 2=xs  Bx-I3 =4S

X = 88
X =1l
c.  Solve for x. .
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Segment Relationships
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o » x =1L
x = (
b. Write an expression for _l}_g ¢. Find the value of z.
. } 4z=15 i
5\x/+zé 7x-3 c t z-3 M 244 N
W I
o CM + ™N = LN
= &
AB +BC =1 Z-3 + 2+4 = Yz-1IS
+1S —RA2
Ib=22
- . 03 8 : 2
Midpoint: Point that divides the segment into two congruent segments.
a.find FM and MG . b. Find YM and YZ .
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c. Tis the midpoint of QR . Solve for x.
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Segment Bisector: A line, line segment, or ray that divides the line segment into two line segments of equal
length.

a. Find CB and AB.

£
. \ . B = 3
A 3 o\ @ 8 MCE__
\ mPB = 36+30b = 32

b. Determine if you have enough information to determine if PC is the
segment bisector of AB. Explain why or why not.
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Perpendicular Bisector: A line, line segment, or ray that intersects at the midpoint of a line segment at a 90
degree angle.

a. Determine if you have enough information to determine if WY is the
perpendicular bisector of ZX . Explain why or why not.
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